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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Y“U] Yy ( 1st Paper : Group – B, Mathematics ) 
a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

 
Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for accuracy and relevance 
in the answer. Marks will be deducted for incorrect 

spelling, untidy work and illegible handwriting. 
The weightage for each question has been 

indicated in the margin. 
 

◊[˝\ˆÁG — Eı 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 

1. (Eı) ^◊V xzy −+  W˝–”[˝Eı A[˝e

yzzyxyxz ∝−+−+ ))((  c˜Ã^, Tˆ„[˝ Y“]ÁS EıÃ[˝”X 

Â^ yzzyx ∝++ )( . 5 

 (F) ^◊V  pqqp abba )(==  c˜Ã^, Tˆ„[˝ ÂVFÁX Â^ 

1=+ qp . 5 

 (G) ^◊V 10log =ba  A[˝e 5)32(log6 =ba  c˜Ã^, Tˆ„[˝ 

a -AÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 5 

 (H) ^◊V 02 =++ qpxx  A[˝e 02 =++ pqxx -AÃ[˝ 

AEı◊ªRÙO aÁW˝ÁÃ[˝S [˝›L UÁ„Eı A[˝e qp ≠  c˜Ã^, Tˆ„[˝ 

ÂVFÁX Â^ 01 =++ qp . 5 

2. (Eı) ^◊V a, b, c m„SÁw¯Ã[˝›Ã^ Y“G◊Tˆ„Tˆ UÁ„Eı Tˆ„[˝ ÂVFÁX 

Â^ cbbba ++
1,2

1,1 a]Á‹ôˆÃ[˝›Ã^ Y“G◊Tˆ„Tˆ %Á‰ªK˜* 5 

 (F) 4
1

2
1

35 + -AÃ[˝ EıÃ[˝S› ◊XÃ[˝aX =dYÁVEı ◊XSÔÃ^ 

EıÃ[˝”X* 5 

 (G) ]…_V ac˜G◊[˝◊`rÙ AEı◊ªRÙO ◊•HÁTˆ a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X 

^ÁÃ[˝ AEı◊ªRÙO [˝›L 345 − . 5 

 (H) ÂVFÁX Â^ e=+++ ...
5
6

3
4

1
2 . 5 

 ◊[˝\ˆÁG — F 

                 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 

3. (Eı) 
131 +

⎟
⎠
⎞⎜

⎝
⎛ +

n

xx -AÃ[˝ ◊[˝ÿô ˆ◊Tˆ„Tˆ 1+nx -AÃ[˝ ac˜G ◊XSÔÃ^ 

EıÃ[˝”X* 6 
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 (F) 21 ◊ªRÙO ]ÓÁ‰ªJÙÃ[˝ Zı_ÁZı_ ( LÃ^, YÃ[˝ÁLÃ^ [˝Á QŒˆ ) [˝_„Tˆ 

c˜„[˝* EıTˆm◊_ ◊[˝◊\ˆ~ Y…[˝ÔÁ\ˆÁ„a ◊PˆEı 18 ◊ªRÙO a◊PˆEı 

Zı_ UÁEı„[˝ ? 6 

4. (Eı) AEı◊ªRÙO ÂEıÁ+ÁX› 10,000 ªRÙOÁEıÁ Ac˜O `„Tˆ¤ W˝ÁÃ[˝ EıÃ[˝_ 

Â^ [˝Á◊bÔEı 5% ªJÙy‘[˝ ◊à˘ c˜ÁÃ[˝ a«„V TˆÁ 1,000 ªRÙOÁEıÁÃ[˝ 

[˝Á◊bÔEı a]ÁX ◊Eı◊ÿôˆ„Tˆ Â`ÁW˝ EıÃ[˝Á c˜„[˝* EıTˆ [˝da„Ã[˝ 

W˝ÁÃ[˝ Â`ÁW˝ c˜„[˝ ? 6 

 (F) ^◊V ]…_◊[˝≥V« ÂU„Eı 1=+ b
y

a
x aÃ[˝_„Ã[˝FÁÃ[˝ _∂ëˆ V…Ã[˝±ºˆ 

p c˜Ã^, Tˆ„[˝ Y“]ÁS EıÃ[˝”X Â^ 222
111

bap
+= . 6 

5. (Eı) AEı◊ªRÙO [˝ „w¯Ã[˝ ÂEı≥V– y-%„l˘Ã[˝ =YÃ[˝ %[˝◊ÿöˆTˆ A[˝e 

[˝ w¯◊ªRÙO ]…_◊[˝≥V« C ( a, b ) ◊[˝≥V«GÁ]›* [˝ w¯◊ªRÙOÃ[˝ 

a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X* 6 

 (F) ]ÁX ◊XSÔÃ^ EıÃ[˝”X : 
183
62

2

2

++

−−
∞→ xx

xx
x
Lim . 6 

6. (Eı) axy 42 = %◊W˝[˝ „w¯Ã[˝ XÁ◊\ˆGÁ]› ÂEıÁX LÓÁ-AÃ[˝ AEı◊ªRÙO 

Y“Á‹ôˆ◊[˝≥V«Ã[˝ ÿöˆÁXÁ·¯ )2,( 2 atat  c˜„_ ÂVFÁX Â^ B   

LÓÁ-AÃ[˝ %YÃ[˝ Y“Á‹ôˆ◊[˝≥V«Ã[˝ ÿöˆÁXÁ·¯ c˜„[˝ ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −
t
a

t
a 2,2 . 6 

 (F) 14
)1(

16
)2( 22

=
+

+
+ yx  =Y[˝ „w¯Ã[˝ ÂEı‰≥V–Ã[˝ ÿöˆÁXÁ·¯, 

XÁ◊\ˆ•„Ã^Ã[˝ ÿöˆÁXÁ·¯ A[˝e ◊XÃ^Á]Eı•„Ã^Ã[˝ a]›EıÃ[˝S ◊XSÔÃ^ 

EıÃ[˝”X* 6 

 ◊[˝\ˆÁG — G 

                Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

7. 024 =−− xyexy  c˜„_ x
y

d
d  ◊XSÔÃ^ EıÃ[˝”X* 6 

8. 22 yx
xu
+

=  c˜„_ ÂVFÁX Â^ xy
u

yx
u

∂∂
∂=

∂∂
∂ 22

. 6 

9. ]ÁX ◊XSÔÃ^ EıÃ[˝”X : xx d1
2

1

2∫ − . 6 

10. ÂVFÁX Â^ 
x

x ⎟
⎠
⎞⎜

⎝
⎛ 1 -AÃ[˝ >W[˝Ô ªJÙÃ[˝] ]ÁX ee

1

. 6 
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English Version 
 

Section–A 

  Answer any one question. 20 × 1 = 20 

1. (a) If xzy −+ is constant and 

yzzyxyxz ∝−+−+ ))(( , prove that 

yzzyx ∝++ )( . 5 

 (b) If pqqp abba )(== , show that 1=+ qp . 5 

 (c) If 10log =ba  and 5)32(log6 =ba , find the 

value of a. 5 

 (d) If 02 =++ qpxx  and 02 =++ pqxx  have 
a common root and qp ≠ , show that 

01 =++ qp . 5 

2. (a) If a, b, c are in G.P., show that 

cbbba ++
1,2

1,1  are in A.P. 5 

 (b) Find a rationalisation factor of 4
1

2
1

35 + . 5 

 (c) Find the quadratic equation with rational 

coefficients whose one root is 345 − . 5 

 (d) Show that e=+++ ...
5
6

3
4

1
2 . 5 

Section–B 

  Answer any two questions. 12 × 2 = 24 

3. (a) Find the coefficient of 1+nx  in the 

expansion of 
131 +

⎟
⎠
⎞⎜

⎝
⎛ +

n

xx . 6 

 (b) The results of 21 matches ( win, loss or 

draw ) are to be predicted. How             

many different forecasts contain exactly            

18 correct results ? 6 

4. (a) A company borrows Rs. 10,000 with the 

agreement that it will be paid at 5% 

compound interest rate per annum in equal 
yearly instalments of Rs. 1,000. In how 

many years will the loan be paid ? 6 

 (b) If p be the perpendicular distance of the 

straight line 1=+ b
y

a
x  from the origin, 

prove that 222
111

bap
+= . 6 

5. (a) The centre of a circle lies on the y-axis and 
the circle passes through the origin and the       

point ( a, b ). Find the equation of the circle.  
   6 

 (b) Evaluate : 
183
62

2

2

++

−−
∞→ xx

xx
x
Lim . 6 
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6. (a) If the coordinates of one end of a focal 

chord of the parabola axy 42 =  are 

)2,( 2 atat  show that the coordinates of the 

other end of the chord will be ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −
t
a

t
a 2,2 . 6 

 (b) Find the coordinates of the centre and the 

two foci and the equations of the directrices 

of the ellipse 14
)1(

16
)2( 22

=
+

+
+ yx

. 6 

Section–C 
  Answer any one question. 6 × 1 = 6 

7. Find x
y

d
d  when 024 =−− xyexy . 6 

8. If 22 yx
xu
+

= , show that xy
u

yx
u

∂∂
∂=

∂∂
∂ 22

. 6 

9. Evaluate : xx d1
2

1

2∫ − . 6 

10. Show that the extreme ( maximum ) value  of 

x

x ⎟
⎠
⎞⎜

⎝
⎛ 1  is 

ee
1

. 6 

      


